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Read the following passages and respond to the questions that follow
each passage. Your responses should be based on the passages.
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Question number 1 to 5 :

“Half a century later, Indians learnt to die for their cause. In this pursuit we were greatly
helped by the examples of martyrs from Ireland and Russia. Thus, it will be wrong to search for
the causes thereof only within India, right ?”
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“Of Course, Saifubhai. Whole world is interconnected.”

“Shankar, the success of any revolutionary movement is dependent on two things. First,
how much inspiration it draws from international conditions and examples. Second, how much
of the most revolution prone class participates in it. [ have already given some examples of the
first. The second source is that of the workers, the farmers, the people. Only those can tight the
revolutionary battle who have nothing to lose. How can someone who is afraid of being deprived
of Sakina’s luscious lips, this bungalow and the hereditary rights over villages be a revolutionary
fighter ? Therefore I say, only the ordinary people can be the vehicle of the revolution.”

“T too agree”.

“Fine, you are aware of the public enthusiasm. Now, see how the international conditions
can be inspiring. The last world war evoked a lot of fire. It was fought at the instance of imperialism
the last ditch effort to have a control over the safe markets for capital and finished goods. Germany
wanted new colonies but the world was already divided. So, the war was necessary for grabbing
the colonies. As a result, Germany got entangled in a war with England and France, who owned
the colonies. It was good that Germany lost the war, however a new enemy to the kicking imperialism
was born - Communism awakening imperialism out of its slumber. Goods should be produced for
the happiness and prosperity, of all the mankind, not for profit. Machines are improved, industries
proliferate, production increases and a large market is required for its sale. However, that requires
rolling cash in the hands of the consumer. Consumers should be paid their wages adequately. If
there is a decrease in cashflow, sale of goods will decrease. Goods will pile up in godowns. There
will be a financial depression. Production will have to be reduced. Factories will close down.
People will lose jobs. What can they buy without money 7 How will factories be run ? Communism
says, give up the lust for profit. Think of your country and the world as a family and produce only
what you need. Let everybody work according to his capacity. Give him the necessities of life as
per his needs. All of this can happen if land or factories will not be individually owned. All the
means of production should belong to one big family.”

1. Yeto faymi sarar=n Held foer S

RROCIHG]

(a) SEATRATH WYY THiHd AoSE! .

(b) THITEN &9 HremEl.

(c) SAFIT TSI Slaayass T} fsreaa.
(1) foft sa a (a) 7 () HRa Fmawaw=,

(2) o8 909R A (b) ® () H FETIH.

(3) T8 "R (a) @ (b) ® (c) i oTavg.

(4) (@) F (b) TR (c) TF.

Consider the following statements with reference to the paragraph.
a) Means of production should be commonly owned.

b)  Profit should not be a motive.

¢) Individuals should get goods only as much as they need.

All three are correct and (a) is necessary for (¢)

All three are correct and (b} is necessary for (c)

All three are correct and (a) and (b} are necessary for (c)

(
(
(
(1
(2
(3
(4) (a) and (b) are correct (c) is not
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2. HpuEwn U9 9raR H1E |9 ? ST
() TR A HISTEL.
(b) T WO IF .
(c) IURATSAT WA UshisId AIow] HETE.
(d) WAHRHST AT THATER HH HEq =,
(1) (@), (b} (9) 2) (@) (o) (d) (3) (@) (b) (d) 4y @ ©
According to Saifubhai, what does Communism profess ?
(a) Give up the lust for profit.
(b) People should be paid generous wages.
¢) Means of production should be commonly owned.
d) Everyone should be made to work according to one’s need.
1

1) (@) (b)) (2)  (a) () (d) (3) (@) (®), (d) 4 @ ©

3. et Ayt B faum v sy A ?
(@) @ WisaE 9 IR WIS T Q.
(b) WrHARRTIRT A e 2.
(1) % (a) (2) % (b)
(3) IR (a) 3 (b) 4)  (a) 3 (b) SFEIE TR
Which of the statements given below is/are correct ?

{a) Germany wanted “Capital and finished goods”.
{b) When Communism was born imperialism was fast asleep ?

(1) Only (a) (2)  Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)
4, Wmﬁw T

(@) WA 9ot 8 7o o wifed T
(b) ErEERE Y 0 @ FREN 5 G THdS 9l SHRACIRE Ehidl sREn 98 Tg e

e
FIvd faye a2 ?
(1) % (a) (2) w (b)
B) (a)% () TR (4)  (2)F (b) AFA TE

As per Saifubhai :

(a) TPreviously Indians were not aware how to die.

(b) In Communism the factories may shut down for want of money however in Imperialism
factories cannot get closed down on that count.

Which statement is incorrect ?

(1) Only @) (2) only (b)

(3) Both (a) and (b) (4) Neither (a) nor {(b)
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5. @"f‘q@?ﬂ Td :
(a) AR Fodew U BVITHIG! WAL WU STavad 3.
(b) HiHa Hid F& THA TR,
(1) (a) A T (b) 1A (2) (o) AT Y (a) SFATI
(3) (a) @ (b) T AA (4) (a) & (b) 79
Saifubhai’s thinking :
(a) Only international inspiration is essential for the success of revolutionary movements.

(b)  The rich can not be revolutionary fighters.
(1)  (a) is right (b) is not (2) (b) is right (a) is not
(3) Both (a) and b) are right (4) Neither (a) nor (b) is right

mmﬁﬁlo

[reAT UM IRl US| SReret 99 Tl St W U arjdean weugi e, Sohlds ol
TUSE S 1 T Helle § CHHaI fRTEa e, oee g1 FTE 9rea e fashiad s o) aues
Q. IgdH Fd YTHAFAT 9 IGHTE Yo a6 AT ho 3T T Ishidl w3l ot 9 Ie df FI0 1S
e fafay 7g oA, Iakid GG §F o). TaoaHes arsl sfee gutqdt ufger wfeiade sia fmio
1. ATATIR! FTE T Todges TXISUNT JIUATHED SSRid! SIS, WA e S8 TE- WUamed 9o, &
I I (TS BN i ST A ST T o TeliarieT W A9l oTFe. g e
e Yol ae famaTe I HAlRd TEEe! S8, WHar Sawd Tas § faaist, Titeen, 9 s
e, "G 9 TR YoAmsie W ey A WA wee 9 @il 9Hd HEeyd 9 TS O IH
THIG- - JIgHeY 1Y I9a. SHhaR, eifdtde 3 el fagia & Iepid gq@ dF faanad
M. SIS & TN A Sa v e omiess slieae 9. SaWES gad ae. Wi
1 Iohidi= S 99 50 9 & AEar #1 AN HAgUH HifTas St ISkl ¢ W 9 3T
T WE GG THEY o8, A U qaen sl wfear sne. Seeiten Tagiarat weta fafddt @
ST T ST e TR A T WA SR ¢ it e Wi w=d. W fagiar T
R 3, SR eRTel, fafaver, sifa-dvaa S fsewdl anfn wafis fag € sa. sifdn Tafis
fae @ g Nyfie Emsd e Uedh oldl. W dQordl TaEih, g ST S TreE
DTS TN g4 e waE Aed ues sw. fHafos fagiard e et © o &), IoRid
& vfean g @3 yhramyer geday quifad ™1 u" 9wl BUN 95, ORATE] HEiE 9 AT
e, [H:qesavtt, ufiE fras snfo @y [ fFmin aem 19 efdwer @ e,

Question number 6 to 10 :

In the simplest sense, evolution means the slow process of change from a simple to a more
complex structure. Evolution assumes that all living things are inter-related. Humans are supposed
to have developed from some simpler forms. Most of the scientists today accept the basic principle
of evolution but they have varying views regarding how evolution has taken place or how would
it go. The evolution of life began in the oceans. About four hundred million years ago the first
land based creature emerged. Some of these gradually evolved into the reptiles who were later
displaced by mammals. Mammals are warm-blooded creatures having greater capacity to learn
from experiences than other animals and this capacity has reached to its highest development in

HTAT HIUTETS AT /SPACE FOR ROUGH WORK




A 7 HO3

the human species. Qur closest relatives are Chimpanzee, Gorilla and Orang-utan. Similarities
between man and other animal forms were identified by Linnaeus who grouped man, the great
ape and monkey in a single order, primates. The three main theories of evolution are Lamarckism,
Darvinism and Synthetic theory. Lamarck is chiefly remembered for his belief in the inheritability
of acquired characters which is disputed. But he is credited in the history of evolutionary thought
for recognizing and stating for the first time that evolution is a universal truth covering all forms
of life and it is a gradual and an incessant process. The scientific propagation of the theory of
evolution was mainly the work of Charles Darwin. He said, that human evolution occurs through
the process of natural selection. The main points of this theory are struggle for existence, variation,
survival of the fittest and natural selection. Darwins natural selection serves as the corner stone of
the modern synthesis but the mutation theory, mendelian genetics and the statistics of population
dynamics are also very important components of its foundation. The basic postulate of the synthetic
theory is that evolution proceeds principally as a result of the interaction between five indispensable
processes mutation, change in the chromosome number and structure, genetic recombination,
natural selection and reproductive isolation. This is also called Neo Darvinism.

6. Ui ATEFHE SIS Uharadl ATal ?

(1) Seridren Fafeaadered () fadfew fagiaEmEm
(3) Sehidren fegEmEd (4) ErfdarEETEd
Most of the scientists have varying views regarding

(1) Certainty of evolution {2) Synthetic theory
(3)  Direction of evolution (4) Darvinism

7. OAThG @igeds! vy 99 Ko 9w 2
(1) SRR fesrsear oy (2) IhuT fHgia AT
(3) ST & YT ik 3R (4) SohEmeE gd geiErEr qeEy o
Lamark is credited for :

(1) Inheritability of acquired characters. (2} History of evolutionary thought
{3) Evoluton is a normal process (4)  All creatures are involved in evolution

8. WE® TN faum ara o ?
(a) SO ToRI GIOT HeAld A9l &AM,
(b) SEREEE 3T TR YOO TR 1 §d SiE THA U,
(1} % (a) (2) ®H (b)
@) @3 b () (2) 7 (b) AR T
Which of the following statements is correct ?
(a) Warm blooded animals are the most experienced.
(b) Evolution takes it for granted that all living beings live together.
(1) Only (a) (2 Only (b)
(3) (a) and (b) both (4) Neither (a) nor (b}
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9. WHE RN fUE rarE A ?
(a) foqish, Miteen 9 SR A9 ST fTRTaTt 277ar Arearyen FH L
(b) T, e g forer® ! Iskid=! a wiEa.
(1) % (a) (2) ®E (b)
(3) (a)F (b} A= 4) (a) @ (b) TRTE AR
Which of the following statements is incorrect ?
(a) The Chimpanzee, Gorilla and Orangutan have no less capacity to learn from experiences
than that in man.
(b) Lamarck, Darvin and Linnaeus proposed the theory of evolution.
(1) Only (a) (2)  Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)

10. @EE HR AU 9 o1s ?
(a) HMAET AU ST @A ¥ A fhesad,
(b) Sawidi e Y TR,
(1) ™ (a) (2) e (b)
(3) @ ()9 (b) (4) 7 (a) T A (b)
Which of the following statements is correct ?
(a) Man acquired his position only after struggling with others.
(b) In evolution the nature is supreme.
(1) Only (a) (2) Only (b)
(3) (a) and (b) both {4y  Neither (a) nor (b)

YT w119 15

JeATERIE ST, T 9 GEE 7 300 Yoy TEURE §F SFHOCH Sohlard IO g Imfr
el fafaua & wd yerdisia g veeret R, i amEtean T FEi ge aeiEareren
FEORIT THER $6 whdd,  JEUEE @ras RO § wad hocd Temde sdfue fafawm
A9 . srafe fafay wadat Imfasw seaies swrel RS gen s e gu w1 et srad
HZHh gl I8l e Ty AeerEt Iua gt § W Wew TACfHdsm oed. ara e
Heard @A Fiveada arETs T 9] YA, e & |ue 9 fae TR duren der fafaum an
NN ERACEAE | R CHEC S
e YO R Ay gEm e i it e S0 AEd . el o SaU
feert efi amme.
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Stafafadn | gvaw fefe R0 FROMA agd. foaviva: Safafauder @ Wwde saf e
WU FH Yo 351, Aewads, SedvE w@w, ygu framm, ge fftd, gew swewn 9 skl amer
HHATE 9gG1 ATSET MR, A TE TS |96 A1 Safarayas Had 70 q8a Sfaw g
TR AT FE T 61 HI AoREA Fd SR MY TG IToH FHol le, IEIs! T
A TheATdd e & Hahi STETF AT,

Question number 11 to 15 :

The Earth's genes, species and ecosystems are the products of over 300 million years of
evolution, and are the basis for the survival of our own species. Biological diversity is invaluable
because future practical values are unpredictable. Genetic diversity, which provides the variability
to enable species to adapt to changing conditions is important to all species. In addition genetic
variability in cultivated and domesticated species has become a significant socio-economic resource.
Without the genetic variability the new varieties cannot be developed moreover the global food
production would have been far less than it is at present and far less adaptable to the future
environmental changes.

Biological resources including genetic resources organisms or parts of organisms, populations
or any other biotic component of any ecosystemn with actual or potential use to humanity are
renewable, and with proper management can certainly support human needs. These resources
and the diversity of the systems which support them, are therefore the essential foundation of
sustainable development.

The available evidence indicates that human activities are eroding biological resources and
greatly reducing the planet’s biodiversity. Estimating precise rate of loss, or adjudging the current
status of species is challenging. As there is no systematic monitoring system in place and much of
the baseline information is lacking the situation is serious especially in the species rich equatorial
region.

The loss of biodiversity is due to economic factors, especially the low values given to biodiversity
and to the ecological functions such as watershed protection, nutrient cling, pollution control, soil
formation, photosynthesis and evolution upon which human welfare depends. Therefore, virtually
all sectors of human society have interest in the conservation of biodiversity and the sustainable
use of biological resources. However, no single sector can by-itself, ensure that biological resources
are managed to provide sustainable supplies of products, rather, co-operation is required between
the various sectors, ranging from research to tourism.

11. TEi® 9 faumisr HIve ag 3R ?
(a) Safafawd TEvaRt uwifers qrie =S AR,
(b) ifass e Gadae afde gfes ofavd Tw.
1) ®R@ (@ FWEH @ @IbIA (4) (2) 9 (b) A=E T
Which of the following two statemnets is correct ?
(a) For maintaining biodiversity an intergrated approach is required.

(b) In conserving biological resources no economic angle is involved.
(1) Only (@ (2) Only(b) (3) Both (a)and (b) (4) Neither (a) nor (b)

oAl HIMTHETS! WM /SPACE FOR ROUGH WORK

P.T.O.



HO3 10

12. @© 31 faumides! S ag o ?
(a) foqaita Tzama Sfar=El 9Em 799 R,
(b)  SEHUH! RIVET IS/ TR FE A AT
(1) & () (2) I (b)
3) ()3 () I (4) (a4 (b) S T
Which of the following two statements is correct ?

(a) There is abundance of life forms in the equatorial region.

(b} No monitoring whatsoever of biological resources is being done.
(1) Only (a) (2) Only (b)
(3} Both (a) and (b) (4)  Neither (a} nor (b)

13. o € fauritsT S swEg o ?
(a) Tafay =it snoat qearea vl Mfvaag gt o1
(b) Sfaew dareAET wvad fawm aHa fawm/ weam gieea .
(1) W (a) (2) % (b)
(3) (@) 3 (b) T (4)  (2) @ (b) S TR
Which of the following two statements is incorrect ?

(a) Our value system of the various entities is definitely incorrect.

(b) Sustainable development of biological resources ensures human welfare,
(1)  Only (a) (2) Only (b}
(3) Both (a) and (b) (4) Neither (a) nor (b)

14. e g faursiet o sramg oe ?
(a) T TR I oTTR.
(b) s GHE TETeAT T A,
(1) % (a) (2) ®H (b)
(3) (a) @ (b) T (4) ¥ (a) T A (b)
Which of the following two statements is incorrect ?
(a) Man is nautre’s enemy.
(b) Biological resources satisfy human needs.
(1)  Only (a) (2)  Only (b)
(3)  Both (a) and (b) (4)  Neither (a) nor (b)
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15. aee ymiis! S 9rg AR ?
(a) SR THG! 3T9- Y= Ieqal AS THA.
(b) s fafayar safeaa aamEifag acoe vem F.
(1) ¥ (a) (2) %@ (b)
3) (a)9 (b) T (4) (@) A (b)
Which of the following statements is correct ?
{a) Without evolution there would not have been so much food production.
(b} Genetic variability rarely supports adaptations.
(1) Only (a) (2)  Only (b)
(3} (a) and (b} both (4) Neither {a} nor (b}

9T TRk 16 0 20 :

et Sew=a Wty T YR, kR A= wwsiwngd fete SoRt S, faen femm
feerdTen W o1 g7 faen e wofit o, e feomdia S groanen, it frerda iR gt
HHEE THFAE], T e fodidie srotan wfit fedde 778 IrE SR 3easH 33, e qo
YR 951 8. OaTH qod Ghedd § IR, fEae fewdtan, uEn tEwHe el S T
sy ST SRR, A7 WeheTAol | OWR] &l 3R V. el saa frter svgranet  yewita
U § WA T AT . ey S sreaian sk o1v] vk frerda Sedm wadia Soaei
Yo FATAMIET & ST 9g; WA O¥R TGl on] Ted A6, ey, $IRs e Afer fedtga
i feordta gioa Uasht Aea Reerdiae aq=r 3% FR0 967 ferdfda 1] wik fudwe dem widfda
A o[ el feerdta Te srvamae] Fafeyie dou g @@ are.

Question number 16 to 20 :

A three level Laser, the simplest kind, uses an assembly of atoms (molecules) that have a
metastable state, some energy above the ground state and still a higher excited state that decays to
the metastable state. More atoms are required in the metastable state than in the ground state. If
the same is arranged and light of particular frequency is made to shine on the assembly, there will
be more induced emission from atoms in the metastable state than induced absorption by atoms in
the ground state. The result will be amplification of original light. This concept constitutes the
principle of operation of laser. The term population inversion describes on assembly of atoms in
which the majority are in energy levels above the ground state; normally, the ground state is
occupied to the greatest extent. Optical pumping is one of the common techniques to produce a
population inversion. In a three level laser, more than half the atoms must be in the metaslable
state for induced emission to predominate. This is not the case for a four level laser. In the same
way the laser transition from metastable state ends at an unstable intermediate state rather than a
ground state. Because the intermediate state decays rapidly to the ground state, very few atoms
are in the intermediate state. Hence even a modest amount of pumping is enough to populate the

metastable state.
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16.

12
i o ne, AvieR sraem e frem 3.
(1) F=Iam sraeeren @t (2) Iafva feerdran =X
(3) afera o feray feaden g2 (4) U fram fedia

In a three level laser, the metastable state is situated :
(1) below ground state (2) above excited state
{3) in between excited and ground state  (4) exactly at ground state

YU SR wd FH T T AEYIH 39 -

17.
(1) & o (2) =i o
(3) g BIR (4) wata wEiE (1) snfor ()
Lesser amount of pumping is required in :
(1) four level laser (2) three level laser
(3) two level laser , {4) both (1) and (2) require equal pumping
18. oYW T AT Uhmamed, sfgfen frud wfegs dyem A
(1) =4 Josia fuda
(2) freras e
(3} SAWRR a0 Feran oo 7
(4)  ardw} UHeE =
During lasing action of a four level laser transition from metastable state ends at -
{1) Higher excited state
{2) ground statc
(3) Intermediate state between metastable and ground state
(4} None of the above
19. g saws yhwdwrdl alm ogt v

(1}  50% 377 FHweer feerdtd srar.

(2)  50% e = o7 simfter feerdtd arwam.

(3)  50% Tam ST 3] v freda Swa.

(4) sfufeeR T figa argq. ’

For induced emission in a three level laser :

(1)  50% of atoms should be in metastable state.

(2) < {less than) 50% of atoms should be in metastable state

{3} > (more than) 50% of atoms should be in metastable state
{4}  metastable state must be vacant

FHe=AT HIWETS AT /SPACE FOR ROUGH WORK
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20, oy o TEdke 9l S .
(1) ofwifer ferdtd o1 S e1fus siad.
(2) e feadia sTof= S stfusr o,
(3) Auiteer anfor Freraw fegdia s1oj= stfyed ARG 7w
(4) aSTH! IR e
During population inversion in three state laser :
(1) Metastable state is most populated.
(2) ground state is most populated

(3) Both metastable and ground state are equally populated
(4) None of the above

U9 ®HIH 21 d 23

HEE] SR ST ATHATEFGT 3% IR STied I, 3. TRUH, AHER eyt
WA STREfo. WA 1982 WA T4 ¢ wAr e safaed 1t sgfer s faed ene. 93l 8
e gie yroaie ISR YG Hel I SOl Il IS € WEY @del B FHT T I5ee B,

1982 =41 &t WHE IR Avi T 3TgioR des TS Sl 8 SHul WgMiSTyd 16
F 9 Tl 8 94 FEfo] SEH T HREHTE UE MR U TN KA. TTieTEn Eel 8
A RGNS JREa] T Toal STaoed gl T4: Jdie 3 Hierg 9y ARt qEmer §61 00 qra
e I d TR F0a fasId HHata Yedrenad e Taioet T,

FETE S AT A L F ST g ST UREA o alde I8 saioAhia Arata Fegfeq

GIHART TR 9 dF T A e i a9Ed 6§ YA 9evrl gl s
wifseaa TwR 3fEe .

Question number 21 to 23 :

There are several products of genetic engineering now available in the market viz. interferon,
human growth hormone and human insulin. In 1982, human insulin produced by rocombinant
bacteria was released for sate in the market. All of these proteins were previously purified from
animal tissues. But human forms were available only in very minute quantities.

Before 1982, all insulins which were utilized for diabetics were purified only from bovine of
cattle and Porcine of pigs pancreas. These insulins were made available as by-products of meat
industry. The insulin supply was, thus a function of supply and demand in the meat market. The
commercial production of human insulin in recombinan E. Coli cells eliminated concerns regarding
possible shortage of insulin in the future. In addition, this human insulin, was of particular
importance ic some diabetics who were allergic to bovine and/or porcine insulin.

Recombinant DNA techniques play an essential role in gene therapy which involves the
direct manipulation of genetic material.

el RGN 90 /SPACE FOR ROUGH WORK
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21, 9f=eM A d e g
(1) “afte sfimifat snfn e (2) SR Sifsmitant
(3) WOE TR (4) sTEfA nfor wymg
Suggest appropriate title to the paragraph :
(1) Genetic Engineering and Medicines (2) Genetic Engineering
(3) Human insulin (4) Insulin and Diabetics
22, TEI® o faurie faur &4
(a) WS TG 1982 TTedl TS Hegd,
(b) drodd TR A FREFIRT &1 46T WUH I00 Saars,
e Hvd faum 9 R ?
(1) 9 (a) (2) ¥ (b)
(3) (a)d (b) SR 4)  (2)F (b) EEE TR
Consider the following two statements :
(a) Human insulin was not available until 1982.
(b} Insulin until then was the major product of meat industry.
Now state which of the two above statements is correct ?
(1) Only () (2) Only (b)
(3) Both (a) and (b) (4} Neither (a) nor (h)
23, Eie M fauridst FHon A e ?

(a) TG HRE@HIRE T S0 (o wdtel HHT TS0 I a5,

(b) 3.For Yeiurygd fHeum qrE 3R 9 Wed haw [aRTe Tehie SRefcRy Hid 3,
(1) +9 (a) (2) 9 (b)

3) @30 I= (4) (a) & (b) T TR

Which of the following two statements is correct ?

(a) Insulin obtained as a product of meat industry could not have been in short supply.

{b) Human insulin from recombinant E.Coli cells is important only because it is useful for
some particular diabetics.

(1) Only (a) (2) Only (b)
(3) (a) and (b) both (4) Neither (a) nor (b)

FHEAT FHIHETS AT /SPACE FOR ROUGH WORK
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UST HHIH 24 d 27 :

TEEAYITES A TiEare! Jad Teed. A9V Soel Taiss YaTd, 190 s 3f=ma] SHEg B,
1 FYSTAT THH F4!, = TF Tod WRAE RS o8, g ol T wgism
firen TN <91 ST 277997 TETl § 9500 TR, AYedol qaed: @rel SYost He o0 3. 399
HRY {3 ae, qTmcat A%, qorEd ®Us], iuw Suo U, wiuw e W, e TeqE, Suw S,
e Aefaet I gefe. e YRR faee @A fagd TIR @R AR, (65% W GOl
TRATE 3R, ) SA9ea YRITe Seifefaria groman waf e yfmares s sifaq 9, e d Teg 390
el vge, T ey RUF WTEl 9T FEl. i Hafite 1wy aea P iy sgemre atwe
. Wl Tihdgl 9o RIS Sl A9 1 33 Tkdl; 37 Frsiq wehall, 371N STege THmH
F& Vihdl, TRl (WEANRATE SREHT Siatd, 1 ! U SR o] 6l 8. 9 Iersa WA
HYNATES hTe! WA WY SRS 3R, 51 TANTE d ANl Sd Hdeh 3TRa. S Saear a
AR E & famee o aiea,  ladieRions a1 YTEATgR 219N STdeh TEIEAET AT Fe S, & THa
et Hiet fai ®tard,. Qe pooE! s Widq & T TITHTeT Geel 390 210 Y T ol
TER TRIRA e UG WA A Gl TR ST SOl a a S TSwuaEE el
U SYF. TR Tod § 8T T quI WO MR, RN ATl AATGHYT ST e iy S
Tool, e Thesd WS Yhdl. wE-HH 38 g AWl T A Yo WEias .

Question number 24 to 27 ;

Chemistry is all around you. The air you breathe, the food you eat, the clothes you wear,
chemistry touches virtually every aspect of our lives. More than any other science, it has transformed
the world in which we live, bringing us abundant food, better health, stronger materials, softer
fabrics, brighter colors, cleaner homes, safer transport, greater energy efficiency etc. Our body is a
complex mixture of chemical substances (65% mass is due to the chemical compound, water) and
we are kept alive by chemical reactions taking place in our cells. As a society, we use chemicals as
medicines when we are sick, whether we use ‘natural remedies or pharmaceutical products,
chemical reactions keep us warm, cook our food and power our transport. But chemistry also has
its darker side and that has been in discovering and developing substances which are potentially
harmful. Bioterriorism and chemical war are curses of the advances in science. Toxicology is a
science which studies all such materials which become a threat to the mankind. Now a days, it is
almest impossible for an ordinary person to obtain toxic chemicals, and it is almost impossible for
a poisoner to escape detection after the use. Poison is a weapon which is usable bothways and by
those who wish to kill, may do so in such a way that the victim is unaware of it. Such deaths are

sometimes shown as natural deaths.

FoAl RIMMETST AT /SPACE FOR ROUGH WORK
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24.

16 A
@7 I faymEis! SR qg 3R ?
(a) THEANER €EIS WE AR,
(b) WEATRAREN SHad da
(1) = (a) (2) W (b)
(3) (a) 3T (b) SrT 4) () 0 (b) SEE T

Which of the following two statements is correct ?

(a) Chemistry is the superior most science.
{(b) There can be no life without Chemistry.

(1) Only (a) (2)  Only (b)
{3) Both (a) and (b) (4) Neither (a) nor (b)
5. @ fuEte @ @@ o
(a) WM WA YRS qEEie Tiea SgRE A,
(b) THRAYTAM fas sidsharaer iy Myuraam 74,
1) ¥ () (2) Fa@(b) (3) () F (b) AF (4)  (a) ¥ (b) S TR
Which of the following statements is incorrect ?
(a) The chemical reactions in a human body come to an end after death.
(b) Chemistry should look for a medicine/cure for Bioterrorism.
(1) Only (a} (2) Only(b) (3) Both(a)and (b) (4)  Neither (a) nor (b)
26. (Rio foumiat @ @ aqr ?
(a) wra fifife ofrwelt Aufite sfiwertan/ suren s Iugs Tam.
(b) THETRSITEAT Ha YIHOTHA ST T 3TE HIedid.
(1) %9 (a) () 93 (b)
(3) 2= (a) ufor (b) 4)  (a) 30T (b) S RN
Which of the following statements is correct ?
(@) Man made medicines are more useful than the natural medicines/remedies.
{b) The harmful effects of chemistry are controlled by the helpful chemicals.
(1) Only (a) (2)  Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)
27. SIS A EHTE] HEAed] Hed Y ?

Tl HINEE A /SPACE FOR ROUGH WORK

(1) Tosit gea=n g &I,

(2) THRAISA HIaS GROMHE] 31T L,

(3) TR SNYE ST s S,

(4) e siwyigE @ uwe TRemEiEn stwm s,
What is the central theme of toxicology ?

(1) Study of pisonous materials

(2) Study of adverse effect of chemicals

(3) Study of therapeutic effects of chemicals
(4) Study of both therapeutic and adverse effects of chemicals.
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W9 Ik 28 d 32:

T v fsran & S s TeaeeAfawE=a s1samema 731 T8 U e fagm 3 ot o fafavafeaas
RO U TTa1d 90 Teres 3le.  MNar= aTaTeed] Y 9 wifoeh Wegien S1yedn Hehda Siam sfor
G HTogren AFFR 36, § O T B9, 390 TR TSNS TSUT] SOy Hepdial dTaqun
T 7 ST U FHISISEA SAT0FTEl S90l Heohed ol Bl YA TSZaRH UshieTd o fafawar amed
T WS e ol SR, U 1Y o AR i, yRfy iferr TeRel wige. 9 3y
WRETE TRIHH AU FIE ST I8 elal. o Swaed wienias fafause  usi g e’
U TTETE ST,

A fafaerasn Tvet SENEEe! gREE esre. SIFEvmme Wiy k= sfyegaiy
T AR & Wefirhaw ol fa fhar vefaddt ams sma T, @ safafes Swer oS
AT Y 9 W WRIVE 3w, sTien fEher wivearad fov wrfire T SR 9 S e
gfafidia & yHar. e Sewel T giwmansd yRive o sifyes dig g, e
TBIRYE TTehoTT= U a1 o7an ofe =61, Wefos 42, & gusier s fmim giwdmsd a9 oy oo wde
g @ Ay T S SRS,

T THREH LT Hfi-FHHt qond v 6 vk, FH- ) o8 2% ERd Y, TS THHEal
YRR U o THES TON TS0, HHl STHE Ug Ihe &I, WS eaalandt e Hiaw st
TR TWHS Sobgi $ol e, SF1 Synged THeHdl Hoaaid Afys W fqa S s Seivss
TR AR, gk A0 wen= fu=r st o qogaaed Torsra a-faar 80 & 99 frents o,

ARG AT S A, Seid, 9eare faeten 3 awaren dmEt et ar
R faers i e 9 e ere. Jv-faewdie st fftekian ofqra € 1 ra U@ 1 =vA
TR He fog IHUR G, A e sier F0 - 99 WAR A 8 Hoa WA g Tt
T B A9 YR STAFSIT RG] AN WA WF STHUETS] HOR 9edd) Aedl.  gEanad
AMEEHE I TR TEREHE AT 3 ST Rt SRER STidien wiet. W Haw

1 SEMISI TS GG a=4T9 W W= SATHRER Sied] Tedi=a1 ANTvihial S1 STale Hioad
. e ANEEE TSP AYYEY, HEWE, FAeeh 9 Tod o {9 O Touats i FhRE
AR FA, ZfEror wTdTdes FTE e fav FeA diTegns feder Teasme Ftvarsn faliam stieie
FE . Iavd &t @fm Tg wren svearen a0 SAided Wl 1950 T TS IaaHrd
3T 1966 AEA TTE 9 TEHAT & Tod LA F@t T, TH SaaTe, ARES d I (6 q0Ee)
T,
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Question number 28 to 32 :

In studying the Indian Constitution and the process of nation-building a fundamental principle
of diversity is noted time and again. As per this principle the different regions and linguistic
groups can protect and conserve their own culture. We had decided to live a united social life
without losing the distinctiveness of the numerous cultures that constituted India. Indian
nationalism has sought to balance the principles of unity and diversity. The nation does not mean
negation of a region. In this sense the Indian approach was different from that adopted in some
European countries where they saw cultural diversity as a threat to the nation.

India adopted a democratic approach to the question of diversity. Democracy allows the
political expression of regional aspirations and does not look upon them as anti - national or anti -
democratic. Besides, democratic politics allows parties and groups to represent the people on the
basis of their regional identity, aspirations and specific regional problems. Thus, in the course of
democratic politics, regional aspirations get strengthened. At the same time, democratic politics
also means that regional issues and problems will receive adequate attention and accommodation
in the policy making process.

Such an arrangement may sometimes lead to tensions and problems. Sometimes, the concern
for national unity may overshadow the regional needs and aspirations. At other times a concern
for region alone may blind us to the larger needs of the nation. In the countries where national
integration is given top priority political conflicts over the issues of powers of the regions, their
rights and their existence often crop up.

After independence our nation had to cope with many difficult issues like partition,
displacement, integration of princely states, reorganisation of states and so on. Many observers,
both within the country and from outside, had predicted that India as one unified country cannot
last long. Soon after independence the issue of Jammu and Kashmir came up. It was not only a
conflict between India and Pakistan. The question of the political aspirations of the people of
Kashmir valley was associated with it. Similarly, in some parts of north east, there was no consensus
about being a part of India. First Nagaland and then Mizoram witnessed strong movements
demanding separation from India. In the South, some groups from the Dravid movement briefly
toyed with the idea ot a separate country.

These events were followed by mass agitation in many parts for the formation of linguistic
states. Today’s Andhra Pradesh, Karnataka, Maharashtra and Gujrat were among the regions
affected by these agitations. In some parts of Southern [ndia, particularly Tamil Nadu, there were
protests against making Hindi the official national language of the country. In the north there
were strong pro - Flindi agitations demanding that Hindi be made the official language immediately.

From the late 1950's people speaking Punjabi language started agitating for a separate state for
themselves. The demand was finally accepted and the Punjab and Harivana states were created in
1966. Later, the states of Chhattisgarh, Jharkhand a Uttarachal (now Uttarakhand) were created.
Thus the challenges of diversity were met with by redrawing boundaries of the states.

THoeAT HTHTETS! FAT /SPACE FOR ROUGH WORK
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28, WEHAM®R (i gAEA YEAA S0 areier ot 1ot 7

(1) wiEplds =M= ) wrim g 9 gaEn

(3) & USRI oTuaT (4) W wm

After independence the reorganisation of states was primarily done on the basis of :
(1) Cultural independence/values (2) Regional matters and problems
(3) Regional political ambitions (4) Regional languages

29. wEe [urHidie Hivr faum drg o ?
(a) @d e 18 ared g0 &1 WG UHEY g THUIR ATEL.
(b) T F FRHER 98 TR TG Tuiie @& TS TS U w5 At g
(1) W (a) (2) = (b)
@) (@F o) (4)  (a) 3 (b) A T
Which of the following statements is correct ?
(a)  All the observers thought that India will not be able remain as one unified country.
{(b) InJammu and Kashmir the problem of regional aspirations of the people was bigger
than that of India - Pakistan conflict.
(1) Only (a) (2)  Only (b)
{3) Both (a) and (b} (4) Neither (a) nor (b)

30. WO FIUA fFEH 9 R ?
(a) YRAME STaTE I STIE Wl Y A,
(b) URAE YRS WA AR S,
(1) ®H (a) (2) H (b)
(3)  (a)d (b) A @) (@) (b) A T
Which of the following statements is correct ?

(a) In India the various states can protect and conserve their cultures.
(b) In India regional chauvinistic tendencies are opposed.

(1) Only (a) (2) Orly (b)

(3) Both (a) and (b} (4) Neither (a) nor (b)

31. wRAN Tafaud=an seam= 9 HH 5 2
(1) THAdeTsd SiE SIFp e (2) OIHUE FRIH S
(3)  SHMRH 9T 1 HEA (4) oo THE
How India faced the challenges of diversity ?
(1) Creating awareness about Integration
{2)  Accepting the democratic view

(3) Accepting the demands of the people
(4) None of the above
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32. [EI® FUR fGyA mErg TR ?
(a) RATE THTEHAST YIET M8 GiY W fafaudrs gda e,
(b) IaX SYTC Wigplak fAfaud Thrads dis] qHSIS! 9.
(1) e (a) (2) Fe= (b)
(3) (@)3 () (4) ()7 (b) T AN
Which of the following statements is incorrect ?
(a) In India national integrity is accorded priority but the regional diversities are not
overlooked.
(b) Inthe other countries cultural diversities are considered a threat to the National Integrity.
(1) Only (a) (2) Only (b)
(3) Both (a) and (b} (4  Neither (a) nor (b}

WYH FHE 339 37

HUFSY 3 STTFR TH. SFAAGTAT MR T SR 9 T34, 1 IUGHG FA, i1 TS
T TS fFfe TR T8 @ QAR Sdie.  HEEr I HYHE I R g6, R
T feerefia ot amed, fo=t goafom @ WM oraE enfor o Suggl Sk Al WRe TR g2 fadt
I B v, A W Y, B W gueeem gafid Jladares vegd foo mies. sfuggaiie faum
B2H BieA WaoagrEt cafaur wafa geudd & wm faedh, aows, afaraew FvarE W
3R, Jeae SeRRar faar wued, Wfaw fafacn s sfugg Fed g wd. = wEgr) $i1g
foearet, a1 Aulas iU o] o, TR @al AHERY Feol 317, ATTHT SfgavEK @ 75 F87
=TET § STHAT ST

SV AFH PO AEE]. W HEA AT, A I T HQ IO AR St

fordehare! sFg TEl.  WEUmT STIER ¥ STEwhiE TENTdaAT YaE geAT- HeHiEHr dwifTh SR
TIF B MR, QET GheE SivdaTs ST AT drEnese S, WU 99N difdwgea v
B fewe a8 AEfRgT wl T i S Tsweet T,
TR Franie, geeh Pff e, @ St g o, 0d ghffide s wen Tuew e,
FHHIS Wifraet 791, fagmm, T9EE TR FOo WEAE ST FYFG, FHAS A€ G FOFHR!
JORE o AU §F DN, GTEHEE ias Fifae 9% @9, ar, 2fowH, %9, §-90 Tura!
ayfas AT+ YA FHA W TR ot v feanh gy fus e st 2§ TR ¥
AT w0 Foae difesl. Sid SIHd, SIS STt Wa 3TR i, o HIaTd THEvaiRi Farg |y
ThAT (YT STE AT Qe 9 W1 HEB T HagoTgd jetieydast fhvn | weer e
FHOTE ST |
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Question number 33 to 37 :

The roots of superstition lie in ignorance. If we want to get rid of this menace it will be
of no use to blame, ridicule or brand superstitious ignorant. It will only demoralise them. We will
have to tell them skilfully in a restrained manner how the superstition takes roots, in which
conditions it grows. Through clever and tactful discussions we have to convince them that
superstitions if not restrained will bring only misery and disaster, and that therefore we should get
rid of it. The task needs consistent efforts and should be carried on with determination and
perseverance until such a person does not lose his faith in the superstitions and turns around.
Superstitions can be eradicated with the help of rational principles and practical thinking.
Legislation will obviously make the efforts stronger. An ordinance has been issued by the
Government. 1t is expected that it will be passed in the coming session.

We live in the age of science. We make use of the most advanced equipments and
discuss in the IT age. But in our personal lives we have not become rational yet. Even when
science is giving us answers to questions regarding all kinds of happenings from the most common
illness to untimely rains, itis difficult to comprehend, why people are still persisting with unscientific
answerts to the problems. Therefore though we have progressed materially our mental development
has not kept pace with it.

It is a scientific truth that, the universe has evolved from five elements called as ‘Pancha
mahabhuta” but some have managed to create myths about it giving it a ritualistic nature.

The resources developed by science and technology are being discreetly as well as blatantly
used for spreading superstitions and rituals. The computers are being used to tell the people what
will happen in the future. Had there not been advanced scientific resources like telegrams,
telephones, fax, e-mail how would the Ganesh idols all over the world have milk on the same day.
We should ask this pertinent question to ourselves. These persons who claim that they are so
powerful and blessed that they can have a direct dialogue with the God, why should they need
such trivial things like mobile and internet ?

33. FH®is 9 fadwarg ared AUEH 49 fas F@W -
(@) < fagrmEn T A gareEien F 38.
(b) T T WS T Wi A
() TRftadiere oo 4 srwe o,
(d) e e gFe Yad w48,
B @@ @ MA@ @) @@ (¢4 Hew
If man is able to make a proper choice between Ritualism and Rationalism -
(@) he will be able to make use of science in a more effective manner.
(b)  he can attain his psychological and mental development.
(¢) he will be able to understand the situation better.
{d) he can make his life trouble free.

(1) (a) and {c) (2) (b) and (a) (3) (c)and (d) (4) All of the above
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34.  JAyHF FHEATS F FI0 AR FHE
(a) T A AER TS HA1RT A0 I =l 71Ra,
(b) BT A favaT AR 9 @ WgT HOATE TO6 heard 3 A0 e,
(c) Tt Hob WM ATVETT SaAM Q@i E9S0! .
(d) TG T UHG GG HELE B aRE R
(1) (o @ 3) (o) @ ()
Eradication of superstition is a difficult task because :
(a) People are addicted to it and they are ignorant.
(b)  People have faith in it and an attempt to divert them from it will demoralise them.
{¢) Iis roots have gone deep in the life of common man.
(d) The line between superstition and faith is very thin,

1) (b) ) (@ (3) (o) 4 (a)

35. Augsge Fad hey U vekdaw ?

(a) TSN T TQFT Slepr=n AARAHIS Ufong seam.

(b) e @rEte favarm feadfcaa aea fem,

(C) W W1gA e HeIaREl TS SqTHean,

(d) ST FO YT AR Y FHA faHgT WA,

1y (@) (2) (b) 3) (o) @) (d)

When can disasters occur due to superstitions ?

{a) When they affect the mental state of the ignorant and illiterate.

{(b)  As the faith of the superstitious people grows day after day.

(c)  Superstitions are followed despite the availability of developed resources.
(d) Dependency on superstitions though scientific reasoning says otherwise.

1) (a) 2) (b) 3 (© 4) ()
36. HFTHHGSEN TS W AN TE. 90

(a) HIAZ WS TiE. () Tagm Sefuge o ofed.

(c) Toreomn yar o Tt () 0T T Y,

() (@) 2) (o) (3) () (4 (b)

We have not developed mentally. We should :

(7)  bury superstitions. (b) TPopularise science.

(c}  Spread education. {d) None of the above.

(1} (@) @) (o) ) (@ 4 (b)
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37. WHKA SRl TSUATHIS! TS TRl SIRA T Hiresal I -
(a) SRTH T AT T T FOS T,
(b)  SHE HIUCAE! HH o1 W Hoeod TEA o SHpISTHER A= I AR,
(c) HTETAT GATE 37em degd! qarl Sea! &L
(d) =T el g Sruftdee o,
1) (o) (2) (d) Gy (@ @ (b
Society at large still makes use of unscientific methods to solve problems because :
Scientific knowledge acquired is not yet progressive.
It does not have answers to it anywhere else and ritualism gives the answers.
Man’s mental state is not yet ready.
Critical attitude of people has not yet developed.

1 (9 (2) (3) (a) # (b

WY ®HIE 38 4 42:

AU B SR TIUATUET oG WV AR, § Y SedUW s feHvaTqRd A8, ST8 Y, T et a1
IO AT U AT TSN e, foeiom: afhe TRiteR ome,  HEEt oM. wrem fa=um svaren
QI . WU TaaR ¥l Ad). Tl ARTe-aTEe shaed,  SA0T B TS HIVTETSAT g 3Tcdd Agarst
Q. T FEEEl qIodrd W SE0 g aeEl dAiad s o SrERE AR, 8 A S0 BRE
fafaa 3R, &M, HiY, WE, AY, I8 F Todl § W6 TOFRE ORI 3TRd.  diTeeid A a1 fasride ST
TR T A FH T TEA. T, GH, 4, foum, Lo Aot S e, € Y fowa 30 2 A3
TEAYLOT WHIARTT Hok BTG ATE1. WV h1H, 31, 8, DY, T8 9 Tee) 8 975 301 §10; 707 @ Y
& A FHvEE o, dE O hae G Sigd Ak FH Sl 49w 7 @ YITd.  HIH 91 SHUge
S, ST I uEl. S, TR, AGH, ST, &1 I 89 § HEeER T 10 9 S 360, a
Fefeerd} STett <R, T U WO VT W1 deddl, UV aie f9eRe 9wt SEW. § Set 3%
S ardl Ages; Wi gHL wEwrE i o Frerta: a9 fafay faen onda, 991 TEE SrTeT U
H AR, Fram A faar SvarE wes ema et o, aWiE 9vE faeR 7 FEa1 saen el
fovamg 3adw, O faeR FI0Uren s ST &id TR, s gh-AHiShgsel oW Bhn.  AEe
JIYFS R 3o A S =ar Ao SIYER a0 oW e, | e 3 s faoge
T AR, WIUER gk fora e, e et gawen fearan fomm s, sieyes faset
Freior a14; v Fremien 2 e @ 2

AT (AT HLvaTs & g0, Y e WeT 9. |HEFd: AE faeee o, a@
el YT-TEEE T I SR, M0 SFale; 7 AR AU AL e v e WA sl
FIAT AT HIU] ¥H, S, 9, G SARTAT SR 6T R, 3 JEIedt o, 90 HIoiHT §
e IR A &, 9 G5pard A el faRReae SR SEedd ARl al o fasriat
HFTIF AR, YT 2 SN FSUR L, TalTe) well wgd A6 AWl soren gfaerd Amvme f=o
VIR YOI 1 T e B, ® faewan Fum .

(a
(b
(c
(d
{

et e N Nt
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38. WS I faumiel ®oR drg o ?
(a) TIHIIG WITH ¥HA:@ FICAGU HRrEl HHTAL.
(b) ToFmieR Friso 3o e e ST,
(1) oK (a) (2)  wE (b)
(3)  (a) & (b) &F51 (4)  (a)d (b) rEE TG

39, ! Higald AT HIRI TS A9oad R,

(a) Tormitee STivem (b) -l 7 T@EER
(o) ue fammiar faaw SawaE (d)  Sdled! Hied SR
(1) (a) it (c) =ideit (2) (b} @for (d) T
(3) W (c) T (4) R (d) SR

40. YEIS T fqumida) Hrr AT g ?
(a)  TTUTET TUNYEN T Afie T9AR.
(b) AU &R FHOEE! O B H,
(1) W (a) (2) HH (b)
(3) (a)F (b) TR (4)  (a) @ (b) AT TR

41, TEie oF faumiis g T4 o ?
(a) HOIIA o T,

(b) TIWE EHE STIw Hg aradd, ¥ AL

(1) ™ (a) i2) ™ (b)

(3) (a) @ (b) &= (4)  (a)d (b) TEE TE

42, o S UMt S0 @ a1 7
(a) WHMNH QRO f99R &4 9.
(b) Fafam wvE fawrias S, g 49 fomm 35e ?
(1) W (a) (2) wE (b)
(3)  (a) ¥ (b) T (4) (@) 9 (b) ST A
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Question number 43 to 47 :

What is life ? One of our greatest difficulties in answering a question like this arises from
language. We use words, and are inclined to think that a thing must correspond to every noun.
Now some nouns stand for things; for example, bricks, water and coal - gas are things. Others are
more doubtful. For example, a wave moves over the sea. We say that it is the same wave now as
five minutes ago, but the particles of water in it are quite different. A tune has even less claim to be
called a thing. [t may be being played in several places at once, or nowhere. And some nouns like
greenness or cleverness stand for qualities which no one, except a few philosophers, suppose to
have any existence of their own.

Where does life belong in a classification of this kind ? When a man dies, we may say that he
has lost his life, or that life has gone out of him. Is that just a metaphor ? Is death the loss of
something, or merely a change of state, as when a snowman melts, or a pattern is disarranged ?
The first people of whose ideas on this subject we know anything thought that life was the same as
breath. But we know that breath consists of gas, which can be made into a solid or liquid, and also
that many living things do not breathe. Life is certainly not a kind of matter. When a man or an
animal dies he does not lose or gain in weight. Nor is there any measurable loss of energy. The
heat gradually leaves the body, but is doing so throughout life. A dead body cools because no
more heat is being generated inside it, not because anything measurable leaves it at the moment of
death.

Our ancestors thought that anything which moved itself was alive. And before the days of
machinery that was quite a good definition. But a machine such as a motor - car or a steamship
moves itself, and as soon as machines which moved themselves had been made, people asked, “Is
man a machine ?” the philosopher Descartes thought that both men and animals were machines,
but that the human machine was partly controlled by the soul acting on a certain part of the brain,
while animals had no souls. And some scientists think that life is just a very complicated mechanism.

43. Choose the correct option.
According to Descartes,
(a) both men and animals are machines.
(b) only human beings have brains, while animals have no brains.
(c) only human beings have souls, while animals have no souls.
(d) life is just a complicated mechanism. :
(1) Only (a) and (b) (2) Only (a) and (c)
(3) Only (a) and (d) 4) Al four

44. Choose the correct option :
A ‘wave’ is a doubtful noun because ...
(1) it moves over the sea. (2) it is the same as five minutes ago.
(3) the particles of water have changed. (4} All the above three.

45. Choose the correct option.
Life is NOT a kind of matter because death does NOT lead to :

(a) loss in weight (b) gain in weight (c) measurable loss of energy
(1) Only () and (b) (2) Only (b) and (¢
(3) Only (a) and (c) (4) (a), (b) and (<)
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46. Choose the correct option.
The writer is sure that ...
(a) death is a change of state. (b) death is a disarrangement of pattern.
{¢} life is not matter. (d} breath consists of gas.
(1) Only (a) and (b) (2} Only (¢} and (d) (3) Only(d) (4) Al four

47. Choose the correct option.
The statement closest to the central theme of the passage is :
(a) Language creates problems about understanding life.
(b} Human beings are different from animals.
{c) People have different opinions about what life is.
{(d) Human beings are machines.
(1) Only (a) (2}  Only (b) {3) Only (c) (4) Only (d)

Question number 48 to 50 :

Modern psychology teaches everyone to chalk out clear-cut goals and achieving them
in the shortest duration. Psychologists, motivational experts and behavioural scientists are forever
busy researching on easy and quick paths to Self-realisation. Fast, clear and smooth is the new
mantra. But does it work in the longer run ? Not really. People go through this achievement exercise,
find it exciting for some time and then one fine day become disillusioned.

A client shared that as a child he was told that everything will be tine if he got good marks.
As he finished his post-graduation, he believed the socially accepted fantasy that everything will
be fine if he got a well-paid job. Then he had similar hopes - from salary hikes, success, marriage,
fatherhood, lavish partying, to practising relaxation techniques, buying a fancy car and owning a
luxury apartment. He reported that at each stage of achieving something he felt on top of the
world, but only for a short while.

Soon, he felt empty and then he chalked another goal thinking that maybe this time he will
stay happy for a longer duration. But nothing worked. Now for the last two years, he was struggling
with the question ‘who am i ? People thought that he was depressed and he should distract
himself from this futile philosophical question. Ironically, he was advised by many to chalk out yet
another goal to get over this psychological crisis or take pills to feel happy.

While ‘who am i ?" appears to be a futile question, it is the door to the greatest good. All of us
are born with a true Self that has unique potential; we can realise it if we hear our inner voice.
However, we are taught right from day one what is socially valued and what is not. If we follow
what is socially accepted, we get love and recognition; other-wise, criticism and rejection await us.
As aresult, we start doing what the world expects from us-money, fame, lavish lifestyle, designer
body, umpteen possessions, pleasure and clear-cut goals. Thus, the question ‘'who am i 7 is
deliberately suppressed.

This question, if pursued, may get you what you have been searching for all along. Therefore,
once you reach a point where you have surety that you can execute vour worldly duties, it is time
to turn inward. Stop asking people what you should be doing. Do not trust psycholog1ca1 tests that
claim to tell you what is good for you. There are no standard answers. Each person has to find his
own answer. The real psychology lies in discovering and realising who you are.

Who am [ ? Think about this question; let it trouble you. Let it shake you up. Let it make you
uncertain about your identity. If others try to pull you back into matnstream dramas, refuse politely
and persist. Often, others distract you because they find this question scary and want to forget it.
In my experience as a psychologist, I often find that the unknown zone looks scary in the beginning
but if you stay on and explore, you will be in for a surprise,

HeAT HIETATS AT /SPACE FOR ROUGH WORK
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Once you break away from social conditionings in your mind, you will get a taste of real
freedom. You will gradually become what you are and not what people want you to be. You will
experience happiness and contentment.

48. Hardcore psychologist want you to :
(1) Chalk out clearcut goals. (2) Achieve goals in shortest possible time
(3) Find easy and quick paths. (4) Understand oneself.

49, Initially you must :
(1) Decide upon the easy and quick paths.
(2) Start asking yourself “Who am 1 ?”
(3) Perform ordinary duties.

(4) Attain self realisation.

50. Give an appropriate title to this passage.
(1) Reasons for disillusionments. (2) Attaining goals one after the other.

(3)  Chalking out our goals. (4) Psychological behaviour.

51. fa=-se-3% 9 & guw ou! 3R,
20598*PTESR=>WY #Q6@{V4k NOG 334D

T @A AN Wiere = gygile! 9n 99 fafire yal TuH S @ oF T2 S 41 em
1 FHUE g wEa el

(a) 2®S by 9*P {c) 8£T (dy Tew {ey 5=R
ugidt 3w
1 (b 2) (o) @) (d) @) (o

A series with symbols-letters-numbers is given.
20598*PTESR=>WY#Q6@fV4kNEG3$D

The four groups out of following five groups, derived from the given series are same in some
way and form a group. One does not fit in the group. Select the alternative of the group
which does not fit in the group.

(a) 285 {(b) 9*P {c) B8ET (d) T@w (e} 5=R
Answer options :
1) ®) @) (© 3 @ T (e
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52. @ $, %, © i+ 71 Yideni=l IGGRT YEIes WHTO FHI0GI TS 3TIR,
POQ 1 &Y TR, P, Q Ua¥ TEH L.
P*Q < a1d SR, P, Q & e gt fhan wHH A
P$Q =1 Y R, P, Q YT Hi3T 7.
P%Q =1 37ef 3717, P, Q STl W1 A ST o el
P@Q =1 7Y 3T, P, Q Uet we Al fhar wmA A1,
AR ARG 91 fauM a9 @eed wgos 9] et oo ae.  Fresvieed dva 6 vy e

faams

F%I; I@B ; B&M ; M$K

Frerd -

(h K%B () KaeB (III) M*F (IV) B*F
et I

(1} = () 9 (Ilf) 99 (2) wad (I) @ (II) 9

(3)y W (D), (D) 9 (IV) ¥ (4) W (I1) 9 (1) 99

The symbols @, $, %, ©, and * are used as follows :

P®Q means, P, is not less than Q.

P*(Q) means, P, is not greater than Q or not equal to Q.

P$Q means, P, is not greater than Q.

P%Q means, P, is not greater than Q and not less than Q.

P@Q means, P, is not less than Q or not equal to Q.

On the basis of this, four statements and four inferences derived from them are given. Select
the correct alternative about the inferences.

Statements :

F%I:1@B ;: BeM ; MK

Inferences :

(D K%B () K@B (III) M*F (IV) B*F

Answer options :
(1)  Only (Iy and (III) are correct (2) Only () and (II} are correct
(3) Only () (1II) and (IV) are correct (4) Only (1I} and (lII) are correct

53, U &R O9 foodl 3R, e SuMd 6 &R e Hifesd faoal . yv Ta=ren fasmi 9m
LRICRECEN
MTPAHBNWLFCROKEUZSVQ
PZH; WOB; 7 ; SWC.
(1) OLL (2) OFW (3) RLW (4y KFL
A set of letters is given. A series of groups of letters, on the basis of it, is given. Select the
proper option in place of question mark.
MTPAHBNWLFCROKEUZSVQ
PZH; WOB; 7 ; SWC(C.
(1) OLL 2) OFW (3) RLW (4) KFL
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54. WO FTE FIg A0 3L e TR,

s | B|MIK A?TRE u[NTH F 1[w][D][P
#e 7%L5 @iLﬂsz@Jlbws*:;
aret .

(@) W ofes A1er il oYy eTe R 9 8T W TG TR 1S T Hreas T4 e,
(i) R ufed AR o T e HEW AR THS T s HIg TR TEoES HEA.

(i) R e anfn e, e AT AR A9 AT W, AHTE TTT= FEH) HIe HEaSG
FE 3T,

It Hifed o NUTER. fede SaREHgen Siedg wurE watd fae
31&IT AYE : RNWDEF

(1)  9@3+8# (2) #@3*8# (3) #@3*89 (4) #3*@s#

Some codes and conditions are given as follows :

Letters B/ M/ K|A[T|R|EJU|N HJ|F
Code [7][%|[5]@]|6]9][8]2]@|1]4#

WD)
3

&5 —

CondiHons -

(i)  Tf the first letter is a vowel and the last letter is a consonant, then both should be coded
by the code of the vowel.

(i) If the first letter is a consonant and the last letter is a vowel, then their codes are to be

interchanged.

(i) [f the first and the last both the letters are consonants, then both are to be coded by the

code of the last letler.

On the basis of above information, select an alternative of the coded form of the given group

of letters.
Group of Jetters : RNWDEF

(1) 9@3*8# (2) #@3*84 (3)  #@3*89 (4) #3*@B#
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55. Y&I® ¥HE 0, @, =, » ffa @ o fagiay 34 o vevam Ao 9R,
(i) ‘AQB =1 374 e, A T B Ve TEH TaT Fohar Hiar AT,
i) ‘A=B =3 AR, AT B U s A fhel B TRl A,
(i) ‘A®RB = 3 3%, A T B Yax Hoy T
(iv) ‘A=B = 3 3¢, A § B TS 7E fFHar B Jarm w7 8.
(v) ‘AGB = 37 AR, AT B I wRE AR, |
et 9w faur 7 @ees sges I el e ara. faun g Wi, e 5= smoen
Fresuiaea g gaim freen
faums ;
POT; T®Y; Y#B; B=D.
frewd ) T=8
M YOD
(1) = Py (1) 09 @ (2) e TR (1) ST 3T,
(3) fAsRd (1) fF=n (1) sIdeR ot (4) TR (1) aTfin (1) St S0 AR

In the following question, ©, ®, =, # and & have been given the meanings as follows :
iy “AQB means, A, is not less than or greater than B.

(ii) ‘A=B means, A, is not less than B or not equal to B.

(iii) "A®B" means, A, is not greater than B.

(iv) ‘A#B’ means, A is equal to B or A is greater than B.

(v) ‘A ® B means, Ais less than B.

Here four statements and two inferences derived from them, are given. Considering the
statements true, select the proper alternative about inferences, which is/are exactly correct.

Statements :
PET; T®Y; Y+B; B=D.
Inferences : (i, T=B
(II) Y®D
{1) Only inference (I} is correct (2} Only inference (II) is correct
(3) Inference (I} or (II) is correct (4) Inferences (I) and (I} both are not correct

oA HIFTEE! ST /SPACE FOR ROUGH WORK
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56. WO® S T fagiE) 76t aftam faat e,

— + - b = > <
A E C D F G B

TG FICHIT FTHET WO TIFHT FHITE IT STGH 3 T 3@,
(1) 27G25A7E72C4E16D4 (2) 33B17E8A24C6E3D4

(3) 64C4F19E9A9C3E6D2 (4) 16F4D3A2E8C2E2

Some mathematical symbols are represented in a new notation by letters as shown in the
following table.

A E C D F G B

Choose the correct expression from the following alternatives.
(1) 27G25A7E72C4E16D4 (2) 33B17E8A24C6E3D4

(3) 64C4F19E9A9C3E6D?2 (4) 16FAD3A2E8C2E2

57. SF & 9 900 UH Aliowl God! R, o figa s sRuamedt 9y vatg e frge, &1t
e aTEfed .

DFG ; FHI,; HJ,Ky _ ;i N,P,Q,.
(1)  TpLoM; 5 LN,O, (2)  LKM; ; KoNyO,
(3) KM, ; KyN3O, 4)  J LMy LyN5O,

A series with two blank spaces is given select correct alternative, in place of blank spaces, in
order to continue the series.

DFG; FHI,; HLKy 5 i N,PQ,
(1) JLoM,; 5 LN,O, (2) KM, ; KyNyOf
(3) ]2K2M2 ; K2N303 (4) ]2L2M2; L2N3O3
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58. (i) e O THA, WA, 99, 957, 999 SN TR TRd. ATdeh! Yoisha sgrate, fer anfo aer

(i) TEF Hord T YRS aldTear fKaeit e ST Yaar SR Siead el ?
(ifi) 3TFTE S WEER @l FYH @ iR 9y wed e FEeE arsfaun= U gerE S

T Q. AT ST AR FOe1 IR, N A s e frer arerg weha =TE.

(iv) TFF q dRRE A9 Rd AR, 9§ W aefadl. T 99, STRTe S faren Jate
o= feaeht Teard se. A fier S,

T A e firer arafaurn qu=n saad= S v feael #e ?

(1) FHAR (2) HTeER

(3) FEER (4) et e

i ut of six boys, Raman, Aman, Baban, Chaman, Saman and Daman, everyone can
i)  Out of six boys, R A Baban, Ch S dD y
play any one of the musical instruments violin, guitar and banjo. But one instrument
can be played by two boys.

(i) The birthday of each boy is different in a week and is other than Sunday.

(iiiy Aman is not born on Monday and cannot play guitar. One boy playing vielin, is born
on Friday. Baban can play Banjo. But he is born one day before Aman. Daman is born
on Saturday and he cannot play Banjo or Guitar.

{ivi Chaman cannot play that instrument which is played by Raman. Raman is born on
Thursday, the second day after the birth day of Aman. Raman plays Guitar.

Then which is the birthday of a person, other than Raman, who plays Guitar ?
(1) Friday (2) Tuesday

(3} Wednesday {4) Inadequate Information

FEHT HETS AR /SPACE FOR ROUGH WORK
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59. A8 ®HAN B, G, H, K, D, F, T 370 v U= Srem sl fafenm onfor wbfen =n &=
favmma g ITaviean fewlt Ayl fooat, Hag, Fiowal, T, ge, Wi, AT It feters 49
FTAE AR, g 9 BN AT I TR FHd F G onfor i Jen wired A, 99 HeERy,
§7 Y} w1 faurg s wam.

G, fowad! 39 sfafterftn favmma & . H, Tt 39 SR oR, vy fafedg g T,
mEfn faurdie e JeUeTRel &G AR G =91 9 e oy s Siowa! 39
FE 3R, D, Beqaie Ted oo F g3 A9 FrERg ARd. V, FISwm 49 FEtw A" sufn D =
o &/ ). B 30for T Sl A1 fen favmme @ wiam. S aehfen 98 w7 M %39, @ Wi
FTT@ @, T, AT FRE

T ESGUHR RV HSFA AT WA AN HTH HTT 2
(@) KBT (b) BIF (c) BHD (d) BHT

Tqidt I :

1) (d) (2) (0 (3} (b) 4 (3

Eight employees B, G, H, K, D, F, T and V are working in an organization, in three divisions
viz. Engineering, Systems and Marketing, at different places viz Delhi, Mumbai, Kolkata,
Ranchi, Patna, Bhopal, Nagpur and Hyderabad; not necessarily in the sequence. Minimum
two and not more than three employees work in a division, out of three.

G, works at Delhi in Engineering division. H works at Ranchi, but not in systems
division. No one is working in Marketing division at Hyderabad. Only one another person
of G’s division, works at Kolkata. D is working at Hyderabad and F at Mumbai. V is not
working at Kolkata and works in D's division. B and T both work in marketing division.
One who is working in marketing division is not working at Bhopal. T is not working at
Nagpur.

Then, which one of the following groups of persons works in Marketing division.
(a) KBT (b) BTF (c) BHD (d}) BHT
Answer options :

1) () 2) () (3} () 4 @
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60. U Hishfas um8d COMPUTER & LNBVQSFU 219 f&fse 9id. & =9 W89 BULKHEAD &4
fofea Adw?

(1) MVCILEBF  (2) KTAILEBF (3) MTAGJEBF  (4) KTAGJEBF

In a code language COMPUTER is written as LNBVQSFU. How BULKHEAD will be written
in that code language ?

(1) MVCILEBF (2} KTAILEBF (3} MTAGJEBF (4) KTAGJEBF

61. T A+BRWUS, A 4% AR B,

A x B RS, A T S1E B 4.

A + B TEU, A AT #712 B .

A — B BN, A 9fevl H1E B =
T GoEtE! ®ivd faar Fivgd #@ #, TP =1 739 e ?
(1) PxQ+R+S-T (2) PXxQ=RxT-§
(3) P+Q+R-TxS (4) PxQ+R-T+S§
If A +B means, A is brother of B.

A X B means, A is husband of B.

A+ B means, A is mother of B.

A — B means, A is sister of B.
Then which of the following statements insist that T is son of P ?
(1) PxQ+R+5-T (23 PXxQ+RxT-5

3) P+Q+R-TxS 4y PxQ+R-T+S

TEET RIETETS! SR /SPACE FOR ROUGH WORK
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62. W T foum 9 @mer e <9 geuRon feden sea. shIvE]/wioe JEuren T FuAm
Fafifea =/ aq, aEmEy 9y v feen
e : w1 Ui S Ui T sifewd foot #) U, AR TR dHEE = 100
T
() U TRE AFELT A Aieddre Tawg adie.
() TR dehd IR 5o FSS IH TS FhEe< THIE HEd U0 TR,
it 39
(1) el TR (i) SFafifea 3.
(2) 9w Tduwon (if) et oM.
(3) TEHRN (i) 7 (ii) =1 Hafifeq e,
(4) TEUROT (i) T (ii) It Haffea A
A statement and two presumptions from it are given below. Select an alternative about the
presumption,/ presumptions which is/are implied in the given statement.
Statement : A nationalised bank had advertised in a national daily news paper that qualified
candidates should apply for 100 posts of Chartered Accountants.
Preassumptions :
(1)  The qualified Chartered Accountants will respond to this advertisemnent.
(i) The qualified Chartered Accountants willing to be appointed in a nationalised bank
are adequate in number.
Answer options :
(1)  Only presumption (i) is implied.
{2) Only presumption (ii) is implied.
(3) Presumption (i) and (ii) both are implied.
(4) Presumptions (i) and (ii} both are not implied.

63. TH A IEATEA YR A 1 o SR, @le 9] feden fawg o, el 99, o
vy feveten wed e, fyadd! are, T s 39 o, vied! a1y, fraedt=n A9 . et

TN TBFHS TR,

TR firereean T=n T 9/ {1 HIvE ?

(1) i, T, @, e (2) feazen, wigw, fe, MfGH
(3) Trer, nfefl, oo, fexan (4) o, viey, e, TG

Different colours are given to different faces of a cube. Red side is opposite to green. Blue
side is between Red and Green. Yellow side is adjacent to Orange. The White side is adjacent
to Yellow and the Green side is face down.

Then which are the four colours adjacent to Yellow ?

(1) White, Orange, Red, Green (2) Green, White, Blue, Orange

(3) Blue, Orange, Red, Green (4) Red, White, Blue, Orange
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64, UH 3% HEEA I, &A= T @ T < fafre fraqqer (reiaenfa $@. ot
$TYe M7 qReiasaar =29 aid UF 3 foosss ofe

ERRC - 38, 28,3.7,30, 5
=0 1 - 3,38, 28,7, 30,5
= [ - 3, 28, 38,7, 30, 5
=0 11 - 3, 28,5, 38, 7, 30
9 [V - 3,28, 5 30, 38,7
=TV - 3,28,5 30, 7, 38

T V G1 TGl AdH WO AR, S 11, 58, 45, 17, 20, 38 ¥ TERN 9= 99 =0 34T W),
11, 45, 38, 20, 58, 17 B, 71 $AYCIHI SVl I AHHS ?

(1 1V (2y 1 3y V (4)y 11

A number arrangement machine rearranges the input of numbers in each step according to
some rule; the example of which is given as follows :

In put - 38, 28, 3,7, 30, 5
Step | - 3,38, 28,7, 30,5
Step 11 - 3,28, 38,7, 30,5
Step 111 - 3,28, 5 38, 7, 30
Step IV - 3,28,5, 30, 38, 7
Step V - 3,28, 5, 30, 7, 38

Step V is the last step of this input.

If 11, 38, 45, 17, 20, 38 is the first step of some input then, 11, 45, 38, 20, 58, 17 will be which
step of that input ?

1y 1V (2y I 3 Vv 4

65. @ﬁm%ﬁ@m%wﬁéﬁm% ! HHiE IO SH T ARG, HHF AU
ATFIHT UFH Fdr AfOFAST ST e, <t ¥t

; iz '7 Vi A

L,
Z ‘ 7,

V7

(@) (b) (c) (d)
(1) () (2) () Gy (© (4) ()

A series of figures is given. Out of them, the figures having no numbers are correct. One of
the figures having numbers is not useful to the series Find it :

ZZ 7 7
Z 7
. |
@ ® © @
1) (a) @) () @) (© @ (@

o=l HITETS! SIAT /SPACE FOR ROUGH WORK
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66. U ST i TEOT! SRt Mo oSt SR, M AV YRS 9 ST fooedl Ty
Terst .
*» ([C ®/® C[C Ala C
® N 00 Am o0 ¥ ?
A OO Alx 0Ol0 ¥|H O‘
M ¢ o @ |c ;| G) (¢ = 4 e &
v @ A @ A o » <
A B m O O H O o
A series of figures is given with a blank space, select the nexi suitable figure from given
alternatives, which will continue the sequence ?
 C|C mm (|[C AlA <
® R» o0 imw o0 x ?
A OO Al OO0 »EH O
M [c o] 2 [¢ x 3 ¢ =« @ o a
x e A o A @ x
A B I~ O = O o
67. W@ T fqum snftn o weds IR frad fKod snea. ¥a faum 9@ 91, EEd fifhaged

e Fremufare=n ara vafa faer :

faum .

(a) T TEEH S A

(b) HE It Rfgam e

(c) UG TETEM Wi AL

s

() wE S Lfeum . (i) wE o wfeaw wEhE.

(iti) HTE It THEAT IR, (iv) hTE! It o T

(1)  waa fshd (i) forel, (2) e TR (i) e

(3) e Frswd (i) oM (iv) Fremd. (4)  waa freed (i) P,

Three statements and four inferences derived from them are given. Considering the statements
true, select the correct alternative about the inferences, which is/are logically derived.
Statements :

(a) Some hopitals are gyms.

(b) Some field is stadium.
{c) No hospital is stadium.

Inferences :

i Some gyms are stadium (i) Some gyms are not stadium
(iti) Some field is hospital (iv) Some field is not hospital
{1}  Only (ii) is derived (2) Only (i) is derived

(3) Only (ii) and (iv) are drived (4) Only (iii} is derived

HoAT HIWE A /SPACE FOR ROUGH WORK
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68. FHE T Wiiea feoat ) Mifew quf ot e faren fommi At st fadem

thﬂ%ﬁﬁa?s'l:
}
S C SS
CXP 4 S ? S P
t 1 PP CC 1t |
c %
S

(2)
|
(3) | [PPXC () S
5 L C

A series of figures is given. Select a proper figure from the given alternatives in place of
question mark, in order to compiete the series :

0%

5 C PD | o)
CXP|||t XS ? S XM | [C P
N[ L2 coN | 4

_

(1) | (2)

r

THoed HIHTETS! S /SPACE FOR ROUGH WORK
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69. HHE SRR A, B, C, D, E, F 3101 G 31790} S4ad1d AaTTedl |id Ygd i, a1 e =998, SoN,

A FIIFEER 3 Snfor YarivaRel YR @l D 9TaR & Yo tal Wy @ sfet fhar snfee
TR, BSTEE A YHRIE HOOMN YRR R, G HISUS A3 qas e I+ o raed Fia
TE. E TI9 3R A eHeeTe e YA Sidl, F 99E 08 TR IE S I R e C ga3
@ YT FI,

W E@AOH HaHEF M T=E 2 M 9= HI0d g9 a6 ] 3R ?

(a) TMIfEER - AR (b) e -

(¢) - &R (d) anfew - qag

Tt I -

O @ ) @ 3) ( CYNNCY

Seven persons A, B, C, D, E, F and G are doing their professions in seven different cities viz.
Chennai, Banglore, Hyderabad, Mumbai, Ahmedabad, Jaipur and Bhuvaneshwar, but not
necessarily in the sequence. They are Doctor, Engineer, Pharmacist, Lawyer, Counsellor,
Professor and Artist, but not necessarily in the sequence.

A is Pharmacist and practises at Bhuvaneshwar. D, practises at Banglore, but he is neither
Doctor nor Artist. The person, practising at Hyderabad, is a professor. G is a counsellor and

does not practise at Mumbai or Chennai. E is a lawyer and practises at Ahmedabad. F
practises at Chennai but is not an Artist. C practises at Mumbai.

Then, which one of the following combinations of profession and place of practise is correct ?
Answer options :

(a) Pharmacist - Jaipur . (b) Engineer -~ Chennai

(¢} Doctor - Banglore (d) Artist - Mumbai

1 @ 2 ® @) (@ 4 (9
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70. WY famem cifaod fiendt smm s, spaart Aot wdl faodt ome. fma wirant
I o fae

A series of figures with a blank space shown by question mark is given. Select the correct
alternative for the blank space.

71, R N R AT ST 1 age ARd. W] ufeed 3 agen fatre feamEn sen
ST AATRd, Ty e adee yedE faw (7) o, feoem wigit= wd wemn, = fammEn
1 gEAIE T (7) < S e weRd. o W i

16 4 64
36 4 100

H 15 (2)y 16 3) 17 4y 18
There are three circles, with four numbers outside them. In the first two circles, numbers

have been filled according to a rule. But in the third circle a question mark (?) is given. Out
of the given alternatives one number can occupy the place of (?) ; according to that rule.

Find it :
16 4 64
36 4 100
(1) 15 (2} 16 3 17 4) 18

FHeedl HIVESH WA /SPACE FOR ROUGH WORK
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72. AR E. 70,000 TAGA U IUM GE SO TG @ T T8 fgaHd sret 9 aee
. 1,05,000 T[afas. AT qEte W nfed ot ard FE T, 1.4 O afae 9 SARHS SN,
T G gAY ETe TR IEE, TET S G gAY SEEaEl STH 9 SHivien THE
e ?
(1) 7:6:10 (2) 12:15:16 (3) 42:45:36 (4) 42:50:48
Aman started a business investing Rs. 70,000, Rakhi joined him after six months with an
amount of Rs.1,05,000 and Sagar joined them with Rs.1.4 lakh after next six months. What
should be the ratio of the amount of profit earned which should be distributed among Aman,

Rakhi and Sagar after three years ?
1) 7:6:10 (2) 12:15:16 (3) 42:45:36 (4) 42:50:48

73, TR TF WeT Afow! faod AR, s TF 08 gEi IR, gH 1% foed Wby fee.
3,10, 29, 60, 127, 218, 345

(1) 10 2y 29 (3) 60 (4) 127

A number series is given, with one wrong term. Select the wrong term from the given
alternatives :

3, 10, 29, 60, 127, 218, 345

(1) 10 (2) 29 (3) 60 4 127

74. YEATSRTSAT (7) SR RO GG SHS ?

P22

1) 44 (2) 35 (3) 39 4) 42
Which number will replace the question mark (?) :

A2

(1) 44 (2) 35 (3) 39 (4) 42

ol S\ /SPACE FOR ROUGH WORK
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75. SATTME A o Sl x Ted A0 A o 6.9, /79 MR, WIS B | @it y Hied a1, sufor o
o TR, /a9 oTR. <fegt & S e 3% fEdH TWia HTerda degt T e + faie et
TuT gt @ U e wiat ured deat o 4t fadie W seteaa. ST w =50 R /A,
Ty =t foaa fodt ?

1) 30fed/am (2 7ofsd/mm @) 4w f®FA/mm @) 50 fFH /A

Train A has a length of x meters and speed of 4 km/hour. Train B has a length iy meters and
speed of v km/hour. The two trains take t minutes to cross each other when they travel
parallel in opposite directions, and 4t minutes to cross each other when they travel in the
same direction. If u=>50km/hour. What is the value of v ?

(1} 30 km/hour (2) 70 km/hour (3) 40 km/hour (4) 50 km/hour

76. GG AFIHE Uk o GH=N WFG &R, g @ g9 9 HTUH FG ShiAT A0 3791
WW%Q@E&WWW.;{%W:

(1) @ e 39 30 eigare.

(2) oTEvah FHAEEE! QoSS o,

(3) Td TR o SR A o g S i,
(4) 1 SHIAUUM Fell FUAWB! IHATE TIX FAS.

There is a garden in your locality with jogging track. But it is occupied by people who keep
smoking and drinking. Thus it is almost impossible for children to play there. You would :

(1) stop taking your children there.
{2) go to the police for necessary action.
(3) request those people to vacate the place on behalf of all parents.

(4) form a pressure group for taking action against them.

oAl HIRTHIS S /SPACE FOR ROUGH WORK
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foreama saTIe! &I SrHerel] TYfHET Yoy fasdl el 9 W aed. fHaw fawmme

TE BYH WHAR R 4 e Jfad s ", S = o1 wewaeyes fawmm
2 g1 FHT A '

e |

wa 1l

1 W@ A8 YT HEYA aRons A
ELIRCEIDEH

—
o
g

T R T ITASH STHe] Tl
FTHH HEMTE BEd 9 Wes wHE 01 Tay
75% m@ﬁaﬁﬁ

(b} |wrre freom sdt=wi deden 58 (b) |srgarier SR snfear M 4 sfaerem
WA Iy TR @ Fhel T IRl T o= glad=n amEe
eI ST FY IR W TR, [t afds afifed fasdia s

(© |Aedfa gy St Tt fies (©) < Ty ST WS AT g TR
ICAEATS! YT g€ TR Hedm amfor weret it ST T SeaRR T AR el
STE el e 3Te & A TAEiA THE HFA1 STHel a¥) YAl i
T F HSUT IURAR AT T AR e es ST qifes Arfaeren SvEes
W T IT AT A 4RI TS YROTE R TR FTAH hetaa TRy
rifauamaEt s g1 TR FOD APR.| (3T,

_

Ao Taria enfifs S STeeddr el HhHe THd W0 qd e AR, ee TRfidla et
Floial TFTE TaTw A WA g N RS $5%1 Tea.

(1)

Wes | @IS TS (a) I (b) NS T FHAieh 1= e S
e | I TG (c) HROMHIAr W@ i [ ReRe S0 .

e [ St TG (b), FRAH AT I FHd 11 = RIeRE FIm.

WS [ @ TT (a) T {c) FRUTHRG T8 huiss 11 = FIeRd IR @,
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There are two irrigation dam sites in the district having a robust potential to develop a minor
irrigation project. The Government has asked you, being the head of the irrigation department
to suggest an approprate site so that an equitable and inclusive growth objective is achieved.

-

Site 1

Site 11

(a)

Site has natural advantages, and would
incur less expenditure for the dam
construction.

Though the water source is adequately
available, construction will be
expensive and may cost at least 75%
more than the site. |

Most of the benefitting population is of
big entreprenuerical farmers, which
will add to the agri production and
S.G.D.P. of the State.

Most of the population s of tribal, small|
and marginal farmers who have a
strong urge to get irrigation facilities to
develop their economic condition.

(©)

Water table in the area has depleted
because of rampant use of ground
water by the rich farmers to grow cash
crops who are least interested in
growing cereals and pulses. Infact this
area is a net importer of food grains.

Though the benefitting land is most
fertile and immense potential exists for
increasing productivity once the water
is made available, the farmers, due to
their poverty, lack of technical
guidance may be unable to exploit the
full potential.

Only one dam is possible as available plan financial resources are limited. Under the above
circumstances if you have to give recommendation to the Government which of the following
will be your most preferred option.

(1)

(2)

)

(4)

Recommend site [ for reasons (a) and (b) mentioned below it.

Not recommend site [ for reason (c} mentioned below it.

Recommend site 1] for reason (b) mentioned below it.

Not recommend site II for reasons (a) and (c) mentioned below it.

wHoedl HIMTEISt ST /SPACE FOR ROUGH WORK
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78. YA TG WEES HZard 9] TR For. 19 Sified WEes gear gtiel 793 2 9 fFet
A FRT A 35 TFell AU Iueey Fa Wi, T Torearmen foeeiusmam fesm st =5,
= feRrle SEeT™ 20% Fed S e T T T eed o ey e A
AT, T WS & 3 $Z« WIETE W TR = T4 & 7 d NAEe =06 Add. qeeae
AR oW e foota &1 ordy e Surn FEam T 9Eige gt e iy gt
Negtra ST ST9a o HIvrar 911 SrEresen 31 ?

(1) @ iEs el sl T AEEE w6 FOarE) TTe Jig Qe ST 9Eg gl
YTEATE AIRTIe 3TEe.

(2) TGS TS FLarAT TGaris! A U GUNE arad Ay g9e A0TEE! 9994 |
HTEAIAT AR < TF HEH Qe ST,

(3) ¥t F2a 35 foal tash 20 feelt T u g7 9 10 el I=ee v A& Feered!
T W $Iamhe do5d Hhel ST,

(4) TG T FEAM FisTeq0r IRTEal T i, St A1 Hed HOadal TR $o51 3He!
T I SR 0 B Siu et TR

The Government prepared a list of Below Poverty Line (BPL) families. Such BPL families are
provided 35 kg. of food grains per month at a subsidized rate of Rs. 2 per kg. A collector of
a district realized that around 20% families in his district which are genuinely poor as per
Government norms were left out of BPL list whereas a large number of families in the existing
BPL list not truly BPL are taking disadvantage. The request by the Collector to the State
Government to allow him to include genuine BPL. families in the list is turned down, however,
the Government has directed to delete the names of the families taking undue benefit from
the list. Under above circumstances, which of the following recourse would you have adopted
had you been in the Collector’s seat ?

(1) Take a massive campaign to delete names of the bogus BPL families from the list and
recornmend Government to allow to add at least equal numbers of genuine BPL families
in place of the bogus ones removed from the list.

(2) Organize a strategic campaign by leaking information to press and electronic media
with a view to create positive pressure upon the Government to modify the policy in
the interest of the genuine BPL families.

(3) Reduce the entitlement of 35 per Kg. of food per family to 20 Kg. and divert 10 Kgs to
the genuine BPL families not in the list.

{(4) Frankly telling the genuine BPL people that his hands are tied due to Government
orders though he sincerely wants to help them.

FHeAT VWIS A /SPACE FOR ROUGH WORK
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79. U= fQUTTRIS Toha Aeaiia Uk S sEEied nNUE seed st $3d WE T4l Aqve
31T S T A THTAT AR Bieh AR SIIHIET AT & WISTi AeAw=h (5558 Fiad
anfn fafay e o 98 aRdcd @S Aldld of FIYA. A7 &S TEh AR a1 T 8
oy efearamaEt gt wWiotea! &3 F00 ?

(1) TEREdHE Sldl4 g@9a died @ial GYI gieae 9 Th HAA9diis §924 dail H30,
faeafgs=arr g1 fasa SrevaEa! a1 WHeA=a1 Hedid Flel astal wivaE] foHdl 3.

(2) faeneatn =1 fqeaamEmEs SrE Foam! fad ad Sefoe grenT #ae,

(3) A NI SR SRren WA o faeneai ST when when, agiemien
queie Hefuq gehew =Ee ot e "AreEi wiidsr s 9 fawEw Zreeren it
AT HET o FWPT =T Hed .

(4) AN Giaen IEA gaEe 9aR #U 9 99 T8U[ Hartd ol g« a9 Hie.

One of the leaders in your area is planning agitation of unorganized labourers. Your experience
tells you that during these kind of agitations people damage public and private properties
and burn or cut trees that are grown by different agencies for many years for short sighted
gains. As a citizen in your area what will you do to stop this type of destruction ?

(1)  Call a meeting of the people by distributing handbills to people in the locality and form
an informal organization of people. Write a request letter to the Collector ot the area to
make provision for avoiding the damage with the help of this organisation.

(2)  Request all educational institutes to make students aware of these destructive activities.

(3) With permission, assist educational institutes in your area to involve learners to take
up projects related to these types of problems, problems of the agitators and organise
activities that support demand of the agitators and for avoiding the damage.

{(4) Form a pressure group, using internet facility and discuss the problem with the
concerned leader as a group.

THoAT RIATATS AT /SPACE FOR ROUGH WORK
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80. 3TEIh=AT LT ufge OHd wger Aol 2T9e Hifed=m qan= Tyl 3fan e qard
AqHUArETS! We fodl, Tegudial e ddte TREE anE wld ST 9 FHere, ({6
FA FRE'? W FHAR Ak S | T iEen AT F9gia] Welavarsn Gifghd FerT aar
3‘”?:!1
TR T TR ST STHAT T TR WEE AT SO oI 4 oho 3T ?

(1) 39 SHTHE oA [Falg e Jeel 94 @ Jed 90 & Sad! TR,

(2) VI AT ATV gl forHes S9ed] dIehgA Sl g FHAHl JuSc AifeRa
T wrd A AR '

(3) T Higm e TgTdear dEE e gfasr’” .
(4) = Uferias Tifghh Rl S99 AR e SEYaE 49 HvETE e I4d F:id TR,

The President of U.S.A. visited to inspect the last minute preparations for the launch of the
first man to the moon at the site of Apollo mission. The President enquired with a sweeper
busy in cleaning there “What are you doing”? The sweeper promptly replied “Iam contributing
to the mission to send the first human being to the moon.”

Imagining yourself in the place of the President at that moment, how would you have rated
Sweeper’s reply ?

(1) He is a person who values his profession howsoever inferior it may seem to the others.

(2)  He is taking pride in an epoch making mission his country is launching inspite of his
insignificant status in the project.

(3) He astutely brought to the notice of the President the “Dignity of Labour”.

(4) The man is trying to take unwarranted credit for a historic mission with which he is in
no way concerned.

-000-
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Tl — (g8 1 989 q3...)

@®) Tfmsnsl fafes Fown fafre wrie 99 W (16 o) FE. Tfasaiais SwThat a1
T FIEEL F3 F Hedd § HY FOAT RAW FS AR, 3 TS RS 9 AHER IHEAEH
TG W e alieined dom T wfey wtaeEes sfufn-g2' e EdauR SR
FIOUE o T SN AF FHG & T FRAEEA AyfEHa 98 TF e9R Wha=n 8= ey
A B

©) T WAIHAFAR AR fafgn S0 9% YreHE SIS 8 Wufas @aaiEt s
U WV WEE SR, WIS TURT S TETe SIUATYEl SUEdi SITIeaT SeiiEaET W- 1
AMAYHTEE 1 fauET w3 ST ravas 3Nt

q. . 201.

T . 201.

e
T =@ TR HIoaEEt RN Gord: T HA 2
(1) TEni EHg weEE! @ svatEs foam
@) T UFHEE 1 (@ TEE g
T YEE Ay I (3) T e WA A ST, a1 W S Y 3)) BES. ardd
GIAGTAT T¥T F. 201 OOE Sw-FAiw (3)" ¥ e quiver srEifed wed qrafan
ATF 2.

ONON N0

I TSI IR TEYRHde YdE TR 09 Saeedis 8 qRiel [aaaen [aeen
IqWiAHIle o @ TEEHETHNG Saidd 940 Uy STifad % SrEad. gt
wET Hiedl e Aiou araed, ifws o1 e 9 9w A4,
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TSI ;I W () Tt udan-2014 wgrE faie : 02 weEnt, 2014
fawa: Ow % 2)

RN AhaT SRR « T Hal (qa) Trel URetl-:08%” a1 TRIE] JeIe a1 JTRlcreh SHEaRIeAT Hfediama! dedrEear
TS IO AT AR, HeX ISTcleTehaiel Te-Saeel SHGeRAT Foe shiaam S9eard Ui 3.2 o Ui .3 o e T
RIS TR TR 5. L & U 3. 2 = el THTeR 33 it STTHIoTe Tienior / S3eige <urei Sudiee (TIa-ia) HeRTe cieheeT ST,
3 T A, S AT 3TSAT SAINE, WA e W, Heg-2 A1 Ueen. oA, Aree i . 83 Want, 00 T SRS Terdcedt
STRHATE ST ST ASeA. TEAR ST el (eI Hefett VTR 1@ el el o S .

ettt - KEY
ki : ST : ks S :
Eica WIA | 9B | €C | ®=ED e | §IA | ¥GB | 9C | €ED
1 3 3 3 3 26 4 2 3 2
2 4 4 4 2 27 2 3 2 2
3 4 4 3 4 28 4 2 3 3
4 3 3 4 4 29 4 3 4 4
5 2 2 2 3 30 3 3 4 2
6 3 2 3 3 31 2 4 2 4
7 2 4 3 2 32 3 4 3 3
8 4 4 4 4 33 4 2 2 1
9 3 3 2 4 34 3 4 1 3
10 4 3 4 3 35 2 1 3 2
11 1 1 1 1 36 1 2 2 4
12 1 1 1 1 37 2 3 4 2
13 4 4 1 1 38 1 1 1 1
14 1 1 1. 1 39 3 3 4 4
15 1 1 4 4 40 1 3 3 3
16 3 3 1 3 41 4 1 1 3
17 1 3 3 3 42 3 4 3 1
18 3 1 1 1 43 2 3 2 3
19 3 1 3 3 44 3 4 3 4
20 1 3 3 1 45 4 3 3 2
21 1 4 1 1 46 2 2 4 3
22 4 1 4 4 47 3 2 2 2
23 4 4 4 4 48 4 3 3 4
24 2 2 4 4 49 3 3 3 3
25 3 4 2 3 50 3 4 4 3

dt. 06" Feb.,2014
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A EI33 K L) Sl
W% | 99A | 99B | @9C | €=D WHE® | 9IA | 99B | §9C | €=ED
51 3 2 1 1 63 1 4 4 3
52 3 1 1 4 64 1 1 1 1
53 2 3 2 2 65 4 3 4 4
54 2 2 2 1 66 3 2 2 2
55 4 3 3 2 67 3 2 3 2
56 4 4 4 4 68 2 3 2 3
57 1 4 3 2 69 4 1 3 1
58 3 2 2 3 70 2 4 1 4
59 1 3 3 3 71 3 3 2 3
60 2 4 4 3 72 2 3 3 3
61 4 1 4 4 73 3 2 1 1
62 3 3 3 3 74 3 3 3 3
75 1 1 3 2
T T RIS - 2014 W, 3. 76 T 80 = TG 07
(STRIATHE 0T TRt 3TTee.)
FTLATTART
- A o - B T - C T -D
b T FHHE AT T T HHE
RIS aqw agm agur
1 2 3 4 1 2 3 4 1 |2 3 4 1 2 3 4
00 |2 |1 |25Q15]1 [25|15)25/1 |05 |0 151 |25 |15
742 1.5 125 |1 2 15125 |1 2 1.5 [ 2.5 1 2 1.5 [ 2.5 1
80251 0510 2511 0510 151 2.5 1.5 125 |2 1.5 |0
"l1s5)1 [25]15f25]2 [15]0o Jo [2 |1 |25 Jo [2 |1 |25
80 f2.5 |2 1510 0 2 1 2504252 1.5 |0 25 |1 05 |0

TR 5.2

dt. 06 Feb.,2014




